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sin? 30° + sin? 60 ° — tan 30 ° x tan 60 °
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D 33 @ 22
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B

sin® 30 ° + sin® 60 ° — tan 30 ° X tan 60 °
2
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@05cosx§1 @ 0<sinx<1 ® 0<tanx<1

@ -1<tanx<0 ® -1<sinx<1

0°<x<90° Y 0<sinx<1,0<cosx<1,tanx>0
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() sin0° = cos0° = tan 0°

© sin45° = cos45° = tan 45°
© sin90° = cos 90° = tan 90°
® sin90° = cos 0° = tan 45°

@ sin0° = cos 90° = tan 90°
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sin0° = tan0° =0, cos0°=1
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S dBE = oAl — \/7_ tan45° = 1

sin90° =1, cos90° =0
tan 90° 9] #f2 A 4 gt
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(sin) (cos) (tan)

52° 0,7880 0.6157 1.2799
i 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764

55° 0,8192 0.5736 1.4281
D 1.1932 @ 1.1933 @ 1.1934
@1.1935 ® 1.1936

B \

tan 54 ° = 1.3764
sin 53 ° = 0.7986
cos52° = 0.6157
. (F4]) = 1.3764 - 0.7986 + 0.6157 = 1.1935
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@ sin90° =1
1
60° = —
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© cos90° =0
® tan60° = V3
3
® sin 60° = \/7_
© cos90° < © cos60° < @ sin60° < O sin90° < @ tan 60°
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o tiste] /DAB = x, £/ADB =y, /DEC = z
gt o, o 5 S 82 A2
® siny =sinz ® tany = tanz

® tanx = CE @ cosz=sinx
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@ cos50°

@1 —cos50°

® 1-tan50°

@ tan50°

® sin50°+ cos50°

DB=AB-AD =1-cos50°
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aB sin x cos T tan =

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1,0724

@e6s2 @697 @701 @ 7193 G 7314

sin 43° = 110 o]BE x = 10 X sin43° = 10 x 0.682 = 6.82
6.82
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Zte sin cos tan
44 0.6947 0,7193 0.9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1,0355
® 1.022 @6.947 ® 7.071

@ 9.567 ® 10.355

x =10 xsin44° = 10 X 0.6947 = 6.947
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H sinxxcosx = — Ot a+b 9] 7S
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DB = 10
BF =12
DF =261 o2&

12 10 30
2VGl  2vel 61
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Sin x X cos x =




22. o3 I9HofA tan Asin A 9] gL oo

e,

>

> =g
2

BC=V2-42=64-16= VI8 =43

tanAsinA:%gx%gzxﬁx?:;
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@y =x-2
— 450 R

®y—x—|—2 % 5 s
®y= V3x+2
@ y= V3x-2
® y=3x+1
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@ sinf = BC @ cosd = AB

(@)sin 6 = cos
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® tan6 = DE
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o 0.64 1
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2tz sin cos tan
32° 0.53 0.85 0.62
33° 0.54 0.84 0.65
34° 0.56 0.83 0.67
35° 0.57 0.82 0.70
36° 0.59 0.81 0.73
37° 0.60 0.80 0.75

@ sin32° = 0.53
@ tan36° =0.73
(@)3 cos36° = 2.44

@ cos34° =0.83

A

@ 2sin35° =1.14

olt}. ot
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cos 36° = 0.81 ©] 22 3cos36° = 2.43 o|t}.




30. o= 19 9] AABC ©f|A4] sinx 9] 3427

ABED ¢o ABAC ©o|B 2 /x = /C
T3 BC = V152 + 82 = 17 o]t}

. . 15
w2tA sinx = sin C = I =3
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@ sina=0.8 cosa = 0.6 ® cosb=0.9

@)
@ sinb =0.5 @tana =0.75

B ~

@ sina = 0.6
@ cosa=0.8
® cosb =0.5

@ sinb = 0.9
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33. tan(A -15°) =1 ©]1, x2 - 2xtan A — 3(tanA)? = 0 & = &
oA ? (T, 0° < A <90°)

®3v5 28 @-v33v8 @243
@ 2v3, V3 ® -V3, -3v3

tan45° = 1 O]|B2 A — 15° = 45°, A = 60° o]t} TEhA|
x% = 2tan 60°x — 3(tan 60°)2 = x> —2V3x - 9 = 0 o]t} &
oA (x-3V3)(x+ V3) =0, x=3V3, - V3 |t}




